Fireside Tales

The Worst Journey in the World
Chapter 3 — Trial by Ice

QUIZ

1) Why did the explorers have to stop so often?

a) To eat and drink

b) Because they were lost

c) To take action to stop frostbite
d) To rest

2) Why did Garrard have problems with his vision?

a) Because he was snow-blind

b) Because he couldn’t wear his spectacles due to condensation from his breathing
c) He was short-sighted

d) The ice on his face got in the way

3) How many hours did they travel each day?

a) Nine

b) Seven

c) Eight

d) Two or three
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4) In a blizzard, what happened to the temperature?

a) It decreased slightly

b) It fluctuated between -40°C and -61°C
c) It increased a little

d) It went up a lot

5) The explorers slept well during the journey.

a) True

b) False

qs ‘pv 2€ ‘qz 01
STIMSNV

Fireside Tales: The Worst Journey in the World was adapted from The Worst Journey in the World by Cherry Garrard (1922)
The videos and supporting materials were created by Simon Cook and Barney Barrett for Stratford Teachers.
For more information, visit: https://stratfordteachers.com/



https://stratfordteachers.com/

